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1. 19,555=
(i) 10000 500 50 5+ + + (ii) 10000 9000 500 50 5+ + + + (iii) 10000 9000 500 5+ + + (iv) 10000 9000 50 5+ + +

(v) 9000 500 50 5+ + +

2. 76,144=
(i) 6000 100 40 4+ + + (ii) 70000 6000 100 40 4+ + + + (iii) 70000 100 40 4+ + + (iv) 70000 6000 100 4+ + +

(v) 70000 6000 40 4+ + +

3. 10000	+	2000	+	100	+	10	+	2=
(i) 12212 (ii) 12102 (iii) 12112 (iv) 12012 (v) 22112

4. 10000	+	7000	+	600	+	60	+	8=
(i) 7,668 (ii) 17,678 (iii) 17,658 (iv) 18,668 (v) 17,668

5. 30000	+	4000	+	200	+	90	+	4=
(i) 34,194 (ii) 33,294 (iii) 44,294 (iv) 34,294 (v) 35,294

6. 300000	+	10000	+	6000	+	500	+	80	+	6=
(i) 316686 (ii) 316596 (iii) 316486 (iv) 316586 (v) 306586

7. 300000	+	30000	+	1000	+	500	+	80	+	5=
(i) 3,32,585 (ii) 3,31,485 (iii) 3,21,585 (iv) 3,31,585 (v) 3,31,685

8. 800000	+	70000	+	5000	+	800	+	60	+	4=
(i) 874,864 (ii) 885,864 (iii) 875,864 (iv) 875,764 (v) 876,864

9. 3000000	+	800000	+	80000	+	9000	+	100	+	50	+	7=
(i) 3889157 (ii) 3899157 (iii) 3889057 (iv) 3890157 (v) 3888157

10. 1000000	+	100000	+	50000	+	8000	+	800	+	70	+	6=
(i) 11,57,876 (ii) 11,48,876 (iii) 11,58,876 (iv) 11,58,976 (v) 11,68,876

11. 1000000	+	300000	+	70000	+	2000	+	600	+	50	+	6=
(i) 1,372,656 (ii) 1,371,656 (iii) 1,382,656 (iv) 1,372,666 (v) 1,372,646

12. Write	the	number	for	the	given	expanded	form	:"(3	✕	100000)	+	(9	✕	1000)	+	(1	✕	100)	+	(7	✕	10)	+	(8	✕	1)"
(i) 309188 (ii) 299178 (iii) 309178 (iv) 309278 (v) 309168



13. Write	the	number	for	the	given	expanded	form	:"(8	✕	100000)	+	(2	✕	10000)	+	(2	✕	1000)	+	(8	✕	100)	+	(8	✕	10)	+	(3	✕	1)"
(i) 8,32,883 (ii) 8,22,873 (iii) 8,21,883 (iv) 8,22,883 (v) 8,23,883

14. Write	the	number	for	the	given	expanded	form	:"(4	✕	100000)	+	(5	✕	1000)	+	(8	✕	100)	+	(3	✕	10)	+	(5	✕	1)"
(i) 405,845 (ii) 405,835 (iii) 404,835 (iv) 395,835 (v) 415,835

15. Write	the	expanded	form	of	the	given	number	:895463
(i) (8	✕	100000)	+	(9	✕	10000)	+	(5	✕	1000)	+	(5	✕	100)	+	(6	✕	10)	+	(3	✕	1)

(ii) (8	✕	100000)	+	(9	✕	10000)	+	(5	✕	1000)	+	(4	✕	100)	+	(6	✕	10)	+	(3	✕	1)

(iii) (9	✕	100000)	+	(5	✕	1000)	+	(4	✕	100)	+	(6	✕	10)	+	(3	✕	1)

(iv) (8	✕	100000)	+	(9	✕	10000)	+	(5	✕	1000)	+	(4	✕	100)	+	(5	✕	10)	+	(3	✕	1)

(v) (8	✕	100000)	+	(8	✕	10000)	+	(5	✕	1000)	+	(4	✕	100)	+	(6	✕	10)	+	(3	✕	1)

16. Write	the	expanded	form	of	the	given	number	:5,78,811
(i) (5	✕	100000)	+	(7	✕	10000)	+	(8	✕	1000)	+	(9	✕	100)	+	(1	✕	10)	+	(1	✕	1)

(ii) (5	✕	100000)	+	(7	✕	10000)	+	(7	✕	1000)	+	(8	✕	100)	+	(1	✕	10)	+	(1	✕	1)

(iii) (5	✕	100000)	+	(6	✕	10000)	+	(8	✕	1000)	+	(8	✕	100)	+	(1	✕	10)	+	(1	✕	1)

(iv) (5	✕	100000)	+	(8	✕	10000)	+	(8	✕	1000)	+	(8	✕	100)	+	(1	✕	10)	+	(1	✕	1)

(v) (5	✕	100000)	+	(7	✕	10000)	+	(8	✕	1000)	+	(8	✕	100)	+	(1	✕	10)	+	(1	✕	1)

17. Write	the	expanded	form	of	the	given	number	:436,761
(i) (4	✕	100000)	+	(3	✕	10000)	+	(6	✕	1000)	+	(7	✕	100)	+	(7	✕	10)	+	(1	✕	1)

(ii) (4	✕	100000)	+	(3	✕	10000)	+	(6	✕	1000)	+	(8	✕	100)	+	(6	✕	10)	+	(1	✕	1)

(iii) (4	✕	100000)	+	(2	✕	10000)	+	(6	✕	1000)	+	(7	✕	100)	+	(6	✕	10)	+	(1	✕	1)

(iv) (4	✕	100000)	+	(3	✕	10000)	+	(6	✕	1000)	+	(7	✕	100)	+	(6	✕	10)	+	(1	✕	1)

(v) (4	✕	100000)	+	(3	✕	10000)	+	(6	✕	1000)	+	(7	✕	100)	+	(5	✕	10)	+	(1	✕	1)
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